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Algebra 2 Honors- Week 2 Homework

Monday-
Use the graph of each side of the equation to find the solution. Then solve the equation to

prove the answer.

1. —x+4=x+2 2.2x—4=2
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3. 2(x—1)=4x—-2(x+1) 4, =3+4(x+1) =x+3(x—-1)
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Name: Date: Block:

Tuesday-

Algebra 2 Name

Inequality Assignment Date Period
@ 2013 Keta Scfrware LLC. Allrights reserved.

Moudel with all three forms of an inequality.

1} You must be at least 48 inches tall to ride the “Thunderboli™ Rollercoaster.

2} Charlie needs mome than £1,800 to purchase a car.

Solve each inequality , write its solution in interval notation and graph it on a number line.

3) 3a—-6+a<-10 4) —B<k+4+3k
o I B e m B S E . — —
-1 @ 1 2 * 4 & & 7 E W@ - —B -5 — -1
5) 2x+5)=31-5x 6) —10—4x< —4(x+2)
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7) —3(1 + 6b) + 3b=2—8h- 3 8) 8x—3-4x+5)<8-3x
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9) Trusty Cab Company charges a $5.50 flat rate plus $1.25 per mile. If Virginia has no more than $40 to
spend, figure out the range of miles she can travel in the taxi.

10} Use the graph to find the solution to the inequality: x* — 2x<—2x—1
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Name: Date: Block:

Wednesday-

Algebra 2 Name

Compound Inequalities Date Period
& 2012 Kuta Software LLC. ALl rights reserved.

Solve each compound inequality, write in interval notation, and graph its solution.

1) n+2=2—5and 5+ 3n< 23 ) —ar+9<—2lor9r—2<-74

2 & -4 -1 @0 2 4 1 E ] - 82 & £ -1 0O 1 4 B E ]
3 55=T7T—-8h=63 4) 4+ % =—-10a+4orSa+1=4a+10
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5) Ix+8<b6+drand-10- 6 <6-—Tx 6) da— 1z—d+agord—5a<-1-6a
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T} A store advertises everything on sale from 15% to 60% off. If the original cost of your purchase is $120.
What is the range of your possible savings?

8) Cynthia makes $8 per hour. She works from 25 to 40 hours per week. Write an inequality that shows
what amounts could NOT be her weekly income.

Solve this conjunction, write in interval notation Both sides of the inequality have been graphed.
and graph the solution. Estimate the solution using interval notation and
graph it on a number line.
9} 2—bGro8r+2adr+ 18
10} x*—3x—-522
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Name: Date: Block:

Thursday-

Practice Test for Modeling with Expressions and Equations Unit

Learning Objectives:

Simplify expressions

Model with expressions.

Solve multi-step equations.

Solve equations with infinite or no solutions.

Model with equations.

Solve equations graphically.

Represent inequalities using a number line and interval notation.

Solve inequalities.

Model inequalities.

Solve conjunctions.

Model with conjunctions.

Solve disjunctions.
. Model with disjunctions.
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Simplify this expression: 2 + 3(2x - 4) - 4(x + 7)
Draw an area model of: 5(x - 2) + 7(2x + 1)
3. a) Write an expression to represent: Olivia has $70. She makes $20 each week through
babysitting.
b) How much money will she have in 5 weeks?
c) How long will it take her to make $200?
Solve: 5(x - 2) + 4(x + 7) =2 + 3(2x - 1) + 4x
a) Write an example of an equation with no solution.
b) Write an example of an equation with infinite solutions.
6. Ericis writing a novel. His goal is 500 pages. He currently has 64 pages written and he averages
15 pages per week. How long will it take him to write his novel? ,.
7. a) Explain how you know find the solution of an equation using a graph.
b) Here is the graph of both sides of the equation x* - 4 = x - 2. What is the solution(s)?
8. Jesus drives no more than 100 miles per week. Model this using an inequality, interval
notation and a number line.
9. Solve and graph on a number line: 3(4 - x) > 12x + 34 - 5x.
10. Your elementary school is having a fall carnival. Admission into the carnival is $3 and
each game inside the carnival costs $.25. Write an inequality that represents the possible
number of games that can be played having $10. What is the range of games that can be played?
11. Solve and graph: -4 <2x - 6 < 14.
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12. David spends on average $45 each time he fills his cars and he fills up between 2 and 5 times per
month. Write an inequality that represent the money he spends on gas per month.
13. Solve and graph: 3-5x <28 or 3x + 7 < 21.
A ride at an amusement park says that people must be a minimum of 36 inches tall but no more than 60
inches tall. Write an inequality that represents the height that people CANNOT be to ride the ride.

Friday- Test day! No homework!



